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SNeyenTseT : (1) omasg elamssEsn sfluns BFaHU ufleurdl 2 drersm GTEn LIS enen
sllunisgd Qameraral. DF& LSl eilen & e mudl (L 19l e = Loyl
sansresfliurarfiLb o Leangwrs Ggfleilésan.

(2) Beod g &HHUL o anen (PGS (SLD 23 5C5Mg (HeugsnELD
LweTUPSS Cauam(b. ULBISET ueeUSDE Quendlé LweaTU(HS55LWD.

Instructions : (1) Check the question paper for fairness of printing. If there' is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.
Gy : @ealamssrar BreE UGHsmens Camamg.

Note : This question paper contains four parts.

u@S - 1/ PART - I

Ghlly : () Simensg elamés@Ens@hn oL wealésab. 12x1=12
(i) Qar@asuul(earer BreNE laLsaid Wsaw gpymLw efleuflamer
CaipOs0s8 GMELGLa allmLulmand Gsigs eTpseab.

Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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1.

2

___ wFuyenwgl.

G Queardlan e mUAumEswLNeTS eruCGungd
(=) Cpiéad

() e8iscH

(2) Coiseh swaz adissh

() &4

Magnification of a convex lens is always :

(a) Positve |

(b) Negative

(c) Either positive (or) negative

(d) Zero
EpésarnL aps lemendd Cal 2 smeflen Henp aramezfle) prenE Genpuw ?
(=) a Sesey (<) B Slovgey

(2) v densay () Bl gmer Sensey

In which of the following reaction, the mass number decreases by four of the
daughter nucleus ?

(a) a decay (b) B decay

(c) v decay (d) neutron decay

Biar dymb apassam Hen
()24 ()16 4 (@) 184 () 84

The gram molecular mass of water is -

(a] 2g b) 16g (c) 18¢ d) 8¢



4.

3
Sp&ERT_cupmyer OTE) FTeUESENTLILITGT ?
(<=1) A CLrmram (<2}) Quen&en
(&) b (rF) 2 O&aDTE
Which of the following is the universal solvent ?

(a) Acetone (b) Benzene

(c) Water (d) Alcohol

IUPAC Quuii@saieatuy g ogman@ésns Cerssliu@n GrearLmbd Hlae
WlesrQestm_(h

(=) e (=1,) <298 jbleid

(8) g (FF) opent

The secondary suffix used in [UPAC nomenclature of an aldehyde is

(a) -ol (b) -oic acid

(c) -al (d) -one

@ meurpeilsatien @)guwib S|n&eT ClFTeRrLg).

(1) 3 (<) 4 (@) 2 (F) 5
The heart of amphibians possess chambers.

(a) 3 (b) 4 () 2 (d) S
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4

Ayl sipHé) @e menLCum&lmg).
(1) ushsamis0
(=) el GLrsraw_Mwredlen 2 L galpLOw

(8) upgGsmer genar

(rr) el CLrsrarrfwrelen o L Lné Feuey

Kreb’s cycle takes place in
(a) chloroplast

(b) mitochondrial matrix
(c) stomata

(d) 1inner mitochondrial membrane

Qm pevar Bl rrenser srasriL@n @LLD

(1) sem ellflgglenr (=) Quepaarss Lpanl
(@) euer &(m (F) seurs eT9&edlwiLd
Bipolar neurons are found in :

(a) retina of eye (b) cerebral cortex

(c) embryo (d) respiratory epitheliur

HeanGadlulen elenaroumed 2 (Heumeug)

(21) @&evGumTsaT (<=y,) Qamasfliquwim
(@) esCGam (/). SarmACLrevGumigar

Syngamy results in the formation of

(a) zoospores (b) conidia

(c) zygote (d) - chlamydospores



10. Glun@ggja;, .

11.

(1)
(2)
(3)

(4)

Frr&Gsmnm

srrFCermom

urraS]Lq_l'Jé]Lur_r

urellGugdlwim

(i) <Ssuugurer LS
(ii) @fsiugurear sw
(iii) @eemriysHa YHHIGCHTL

(iv) endpm ybpGHML

(1) (1)-(id), (2)-(v), (3)-(id), (4)-(i)

(=) (1)-(iv), (2)-(idi), (3)-(), (4)-(id)
(&) ()-(), (2)-(ii), (3)-(v), (4)-(i1)
(/) (1)-(v), (2)-(), (3)-(i1), (4)-(iii)

Match the following :

(1)
(2)
(3)
(4)
(a)
(b)
(c)
(d)

Sarcoma
Carcinoma
Polydipsia
Polyphagie

(i) Excessive hunger
(ii) Excessive thirst
(iii) Connective tissue cancer

(iv) Stomach cancer

(1)-(idd), (2)-(v), (3)-G), (4)-6)
(1)-(v), (2)-(iii), 3)-0), (4)-(i)
(1)-(0), (2)-(i), (3)-Gv), (@)-(ii)
(1)-Gv), (2)-G0), (3)-Gi); (4)-(iii)

ahg Hlapsflulen smyeons 9 : 3 : 3 : 1 2 (Heundlmg) ?

(<=1) Gilged

(@) ermlend egIk@EGSwD

(<) GNI&ECs sz

(") @OmE sememw

Q:3:3:1ratiois due to:

(a)
(c)

Segregation

(b) Crossing over

Independent assortment (d) Recessiveness
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12, aienmy B gregelus aenggn Gandena apaer appdld t-mp‘)]@al,lju.@,i.g!]u.mnft

(<51} dangnann () J.W. gprico@uits

() @onennéoly greiy (F) eblyGar w effley
The term Ethnobotany was coined by :

{s) Khorana (b) J.W. Harshberger
() Ronald Poss (d) Hugo de Vries

u@g - I /| PART - 11

@HOY : aenauCugys Y dlanisemse dawudasan. dem aar 22 -&6@
s s, il wofissay. e

Hote :  Answer any seven questions. Question No, 22 is Compulsory.
13. flonaind ~ cuanupsseyd. g UMESET WToa 7

Define inertia. Give its classification.

14, eanenb gen fa Hpwrss Carapdpg ?

Why does thlc sky appear blue in colour ?

15. gm sCanfl - awequpssay.

Define one Calorice.

16. zasm Con Bfulen vweaunBaaie gCsgd Bramymas says.

Mention any two applications of Avogadro’s Law.



17.

18.

19.

20.

21.

22,

Sl omemrt R .
= V STETLLIHWD g (amef] saaumLsar TP

List out the parasitic adaptations in leech.

(PENETDWIL UNGISTULNG MeusS (MES 2 FeLD o mUILIGET WTea ?

What are the structures involved in the protection of brain ?

Qarhésuul (Hdrer uLsSé A, B, C whmy D péw LUNERIGEET <DL TETLD

GTERTEYLD.

Identify the parts A, B, C and D in the given figure.

wyyy Qurdlulwed - cuenrumésgn.

Define genctic engincerigs.

auengl_() (SPRITE) crenpney crenen ?

What is Sprite ?

2 §.8 HeopawaeLy @6 saflussy Qummeneng) SigEsm E)enaeilanCGung
QaucllG B Qurss yHp@as saéé(s.

Calculate the amount of energy released when a radioactive substance undergoes

fusion and results in a mass defect of 2 kg.

| miys / Tumn over
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U@S - II / PART - III

@Ml ﬂmm(ﬁm@fﬁ (1P GE\GMH&&@&@ S weflssayb. eflerm aanm 32 -&@
SLLmuwns ool walésab. 7Tx4=28

Note :  Answer any seven questions. Question No. 32 is Compulsory.

23. aflenaufen swenum_en Hu L afiér @pavrind 694 apad smel.

Deduce the equation of force using Newton’s Second Law of Motion.

24, dllLdurieaa wpph gimuuriea Gopur@semer Caunu®sss.

Differentiate the eye defects : Myopia and Hypermetropia.

25. (&) BQwmell ifieymse crenpmed eTemen ?
(<) @ aTHQrredlgsed cremmmed eremmen ?
(a) What do you understand by the term Ultrasonic Vibration ?

(b) What is meant by reflection of sound ?

26. () QUsssRmaeu e aTaan ? THSIHSETLH SHS.
(=) smdlpsdlen gGCaaubd @ram® LwaUTHS®ET sams.
(a) What is an amalgam ? Give an example.

(b) Mention any two uses of copper.

27. Gemuen gnumLLTEGED (Wapew eNarsEs.

Explain the mechanism of cleansing action of soap.



9

‘ -3 ArAL |_'_J|,_|BSGEHGTT
28. [.-_ﬂ}l) DG (HID  &reurmisallay SmeaTL LD @J}Gﬁ'{@ QUGN G \LITEuT @B‘ﬁ 51

GANAG .
() pafliGatdeamu Lnfib snyeflser wraa ?

: : t.
(n) Name the three basic tissue systems in a flowering plan

(b)  What are the factors affecting phutoﬁynthcsis ?

29. @upsider uafsman L yw§s.

Enumerate the functions of blood.

30. waRhi Callliy emwliysa aaary Hodss b ol LG AH&MNEEE
Qaldlenmer ?

How do rainwater harvesting structures recharge ground water ?

31. (=) SCammenLty, fCGamanLs LpM BelliT idleug) eremen ?

(=),) 2A0CenCembaer erammmed ereman ?
(a) What do you understand by the term phenotype and genotype ?

(b) What are allosomes ?

32. (=) 0.01 M HNO, senpaeilen pH wélliy snams.

(1) 100 8. Bfleb 25 &. shss@IMULSE sOISH @ SaIse sUTA&EsILESDS.
2igar saaurmeflear flop sseissmss srars.

(a) Calculate the pH of 0.01 M solution of HNO,.

(b) A solution is prepared by dissolving 25 g sugar in 100 g of water. Calculate
the mass percentage of solute.

[ §BUYS / Turn over
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UGS - IV / PART - IV

GmIoY IS T, @Slsmnéaa;@éﬁ@lb eflen_walldaayib. Ggeneuwimen @)L rsafld ULLD
CUENITILIGY LD, 3x7=-21

Note :
33. (=) (1)

(1) pléae wpmib @Crmowid seps 2 Cansssmme Bamny QaiuGohpd

34.

Answer all the questions. Draw diagrams wherever necessary.

(1)

(<) (i)

(a)

(b)

(i)

(1)
(11)
(iii)

(1)
(11)

(=1) ()

(11)

(iii)

(<) (i)

(b)

(11)
(i)
(1)
(11)

(i)
(i)
(i1)

(iii)

0960 Geuliu ofld) - quenTumISsaLD.

ENFQIONSE LwauOGHUIUbH6UG ear ?

@ e 2_m@ @Qeny ereuaumgy W SNgahGmar UTHE&ESng ?
9|66

GBLL e eTammed Gremmen ?

DI@ESHM LM CTRDE) GTae ? DiFen @)endilen oS urs s

Gaweur@aemer eleufldseyb.

State Joule's Law of Heating.

An alloy of nickel and chromium is used as the heating element.
Why ?

How does a fuse wire protect electrical appliances ?

OR
What is a longitudinal wave ?

What is a nuclear reactor ? Explain its essential parts with their
functions.

SAWESL(H GTET — CUMTIMESELD.
H,S0, - earer sevuiflen g56i5 @awuibGamears srams.
D 2 Mighad CamomaEnéELD, Frb o Mepdls sapuyb CamomisEhsELwD
Qe Cuwrer CaumurHaer wreney ?
36060
Be pmib WBerm ellamansaner CoumuDésis.
BHflmawnssd eflaar eratmre ceear ? THSSHESTL(H &(Hs.
uigeuflens Ceiomisellan gCaEIb apanm LBTUSMETS da)s.
Define : Atomicity.

Calculate the percentage of sulphur in H,SO,.

In what way hygroscopic substances differ from deliquescent substances.
OR

Differentiate reversible and irreversible reaction.
What is neutralization reaction ? Give an example.
Give any three characteristics of homologous series.



(i1)

(iii)

(=) (i)

(a)

(b)

(11)

(iii)

(1)
(11)

(111)

(1)
(11)

(111)

11

meflufley *Goypns seflenws gram®w aprirGonen 15 ?
TEIMUE aoniGuoner ger ay@pmn goniGonen aeng S@PEEL-

UG &lenpg 7

omonrédlen Uflemmios Caml_un®senar elileTsEs.
B{6V605)
5 QB 1 eréng. -anay @AOGCL B)Lisafld Qe U LwemLBADS ?

@oéldr wfiGam ofen Qaflis Gren® whsnsCana g ayud fl

Lens Sy ssllen UUSEEET LHMID Yensullenaudlen Bw efleneeyge uHil
Neatées.
Which hormone induces parthenocarpy in tomatoes ?
Why is thyroid hormone referred as ‘personality hormone’ ?
Explain Lamarck’s theories of evolution.
OR
Which enzyme cuts DNA at specific sites ?
Name two maize hybrids rich in amino-acid, lysine.

Explain smoking hazards and the harmful effects of tobacco.
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